
Hirschkäfer

Nr.

1. 6,3 m = 0,0063 km 6,3 m² = 0,0000063 km² 6,3 m³ = 0,0000000063 km³

2. 1,5 dm = 0,00015 km 1,5 dm² = 0,000000015 km² 1,5 dm³ = 0,0000000000015 km³

3. 3,6 m = 0,0036 km 3,6 m² = 0,0000036 km² 3,6 m³ = 0,0000000036 km³

4. 8 cm = 0,8 dm 8 cm² = 0,08 dm² 8 cm³ = 0,008 dm³

5. 9,9 dm = 99 cm 9,9 dm² = 990 cm² 9,9 dm³ = 9900 cm³

6. 5,3 cm = 0,053 m 5,3 cm² = 0,00053 m² 5,3 cm³ = 0,0000053 m³

7. 6,3 dm = 0,63 m 6,3 dm² = 0,063 m² 6,3 dm³ = 0,0063 m³

8. 2,3 m = 0,0023 km 2,3 m² = 0,0000023 km² 2,3 m³ = 0,0000000023 km³

9. 5,3 cm = 53 mm 5,3 cm² = 530 mm² 5,3 cm³ = 5300 mm³

10. 7,1 dm = 71 cm 7,1 dm² = 710 cm² 7,1 dm³ = 7100 cm³

11. 5 cm = 50 mm 5 cm² = 500 mm² 5 cm³ = 5000 mm³

12. 6 m = 600 cm 6 m² = 60000 cm² 6 m³ = 6000000 cm³

13. 6,6 dm = 66 cm 6,6 dm² = 660 cm² 6,6 dm³ = 6600 cm³

14. 9,6 cm = 0,96 dm 9,6 cm² = 0,096 dm² 9,6 cm³ = 0,0096 dm³

15. 3,9 dm = 0,00039 km 3,9 dm² = 0,000000039 km² 3,9 dm³ = 0,0000000000039 km³

16. 3,8 km = 38000 dm 3,8 km² = 380000000 dm² 3,8 km³ = 3800000000000 dm³

17. 9,7 cm = 97 mm 9,7 cm² = 970 mm² 9,7 cm³ = 9700 mm³

18. 4,8 dm = 48 cm 4,8 dm² = 480 cm² 4,8 dm³ = 4800 cm³

19. 5,6 dm = 0,00056 km 5,6 dm² = 0,000000056 km² 5,6 dm³ = 0,0000000000056 km³

20. 0,7 cm = 7 mm 0,7 cm² = 70 mm² 0,7 cm³ = 700 mm³

21. 9,4 mm = 0,094 dm 9,4 mm² = 0,00094 dm² 9,4 mm³ = 0,0000094 dm³

22. 7,7 cm = 77 mm 7,7 cm² = 770 mm² 7,7 cm³ = 7700 mm³
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Nr.

1. 6,3 m = 0,0063 km 6,3 m² = 0,0000063 km² 6,3 m³ = 0,0000000063 km³

2. 1,5 dm = 0,00015 km 1,5 dm² = 0,000000015 km² 1,5 dm³ = 0,0000000000015 km³

3. 3,6 m = 0,0036 km 3,6 m² = 0,0000036 km² 3,6 m³ = 0,0000000036 km³

4. 8 cm = dm 8 cm² = dm² 8 cm³ = dm³

5. 9,9 dm = cm 9,9 dm² = cm² 9,9 dm³ = cm³

6. 5,3 cm = m 5,3 cm² = m² 5,3 cm³ = m³

7. 6,3 dm = m 6,3 dm² = m² 6,3 dm³ = m³

8. 2,3 m = km 2,3 m² = km² 2,3 m³ = km³

9. 5,3 cm = mm 5,3 cm² = mm² 5,3 cm³ = mm³

10. 7,1 dm = cm 7,1 dm² = cm² 7,1 dm³ = cm³

11. 5 cm = mm 5 cm² = mm² 5 cm³ = mm³

12. 6 m = cm 6 m² = cm² 6 m³ = cm³

13. 6,6 dm = cm 6,6 dm² = cm² 6,6 dm³ = cm³

14. 9,6 cm = dm 9,6 cm² = dm² 9,6 cm³ = dm³

15. 3,9 dm = km 3,9 dm² = km² 3,9 dm³ = km³

16. 3,8 km = dm 3,8 km² = dm² 3,8 km³ = dm³

17. 9,7 cm = mm 9,7 cm² = mm² 9,7 cm³ = mm³

18. 4,8 dm = cm 4,8 dm² = cm² 4,8 dm³ = cm³

19. 5,6 dm = km 5,6 dm² = km² 5,6 dm³ = km³

20. 0,7 cm = mm 0,7 cm² = mm² 0,7 cm³ = mm³

21. 9,4 mm = dm 9,4 mm² = dm² 9,4 mm³ = dm³

22. 7,7 cm = mm 7,7 cm² = mm² 7,7 cm³ = mm³
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